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BRT AV RIUEEY—ER(ZDT) F &5 B Bl 68 R R Bl R 2 XiEIA L, B F A EIE D HE 78 HAE(E B (FR)

BREHERRE 64kbit s| 128kbit s| 192kbit/ s| 256kbit s| 384kbit s| 512kbit/s| 768kbit s 1Mbits 1. BMbit/s| 3Mbit/s | 4. GMbit s
15KmZET 23,720 6,511 26 17 282 8 22 13 648 3 1
(21,015) (5,378) (15) @ (258) (8 19) an (573) (D) [
30KmZET 7179 3,153 5 4 25 5 6 4 105 3 2
(6,580) (2,984) (2 (2 4) (2 (6) 3 (100) (D) [
40KmZET 1,888 1,132 3 0 23 3 4 1 27 2 2
(1,703) (1,094) 3 0 @) 3 4) @) 24) (D) [
50KmZET 1,148 1,086 3 0 23 1 1 0 16 0 0
(1,053) (1,058) 3) 0 0 @) 0 0 (14) (D)) (D))
60KmZET 803 915 2 0 29 0 3 0 30 0 0
(702) (896) 0 0 (6) 0 @) 0 (23) ()] [
70KmZET 547 408 0 1 22 2 1 1 10 0 0
(459) (401) 0 0 @ (2 @) 0 (10) ()] [
80KmZET 430 448 2 0 17 0 0 0 6 0 0
(403) (437) @) 0 (5) 0 0 0 (5) ()] [
90KmZET 170 185 1 0 9 1 0 0 2 0 0
(151) (180) 0 0 0 @) 0 0 @) ()] [
90KmiA 657 1,171 3 0 37 7 3 0 39 1 0
(587) (1,155) @) 0 @) @ (2 0 (370 ()] ()
YRS 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
& &t 36,542 15,009 45 22 467 27 40 19 883 9 5
(32,653) (13,583) (25) (9) (289) 24) (33) (15) (787) 3 [
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BREHERRE 6Mbit s 45Mbit/s] 50Mbit” s[ 100Mbit” s[ 150Mbit” s] 200Mbit” s] 250Mbit” s][ 300Mbit” s| 350Mbit” s 400Mbit” s| 450Mbit/s
15KmZET 3 0 0 0 0 0 0 0 0 0 0

(2 0 0 0 0 0 0 0 0 () (D))
30KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
40KmZET 2 0 0 0 0 0 0 0 0 0 0
2 0 0 0 0 0 0 0 0 () (D))
50KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
60KmZET 3 0 0 0 0 0 0 0 0 0 0
(2 0 0 0 0 0 0 0 0 () (D))
70KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
80KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
90KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
90KmiA 5 0 0 0 0 0 0 0 0 0 0
(5) 0 0 0 0 0 0 0 0 () (D))
YRS 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
& &t 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0
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BREEERFE | 500Mbit/s] 550Mbit s 600Mbit/s] 650Mbit s| 700Mbit/s] 750Mbit s| 800Mbit/s[ 850Mbit/ s| 900Mbit/s[ 950Mbit/s| 1Gbit s
15KmZET 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 () (D))
30KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
40KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
50KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
60KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
70KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
80KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
90KmZET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
90KmiA 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
YRS 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 () (D))
& &t 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0

()]
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BETAORIVEET—EX(FD4) 2R B B B Il [B1 R 3% XENAL, EREANROERE P A (=5 s (1)
BEEEERFE [ 1. O50Gb./s]| 2. 4Gbit/s & it
15KmET 0 0 31,254
0 0 (27,287)
30KmZET 0 0 10,491
0 0 (9,686)
40KmZET 0 0 3,087
0 0 (2,844)
50KmZE{ 0 0 2,278
0 0 (2,129)
60Km=ZET 0 0 1,785
0 0 (1,630)
70KmZET 0 0 992
0 0 (875)
80KmZET 0 0 903
0 0 (851)
90KmZET 0 0 368
0 0 (333)
90KmiA 0 0 1,923
0 0 (1,801)
PN YARE 0 0 0
0 0 0
& &t 0 0 53,081
0 0

(47.436)




